N = 0l & At & Ml A
2016 £ 3 8 BN IESHN BASHE
SN BACHB
M HUTME 29
Sel: DEME E4 CER-ED
SA - () - NRANY - BES 0 &k 7= HDz2
2go M 2,336,916 2,449,525 A112,609
= 43,720 43,720 0
Al 2,293,196 2,405,805 A112,609
M2 2d 1,244,758 1,280,109 A 35,351
= 21,860 21,860 0
Al 1,222,898 1,258,249 A 35,351
nEHH =4 132,033 134,034 A 2,001
SNNEES 14,246 15,750 A 1,504
301 LEE A= 896 2,400 A 1,504
09 AMAHIEAS 896 2,400 A 1,504
OXNFESARN BAS(MSIE SAE) 896 2,400 A 1,504
SAEHE D208 (&2 6,383 6,880 AN 497
301 LEE A 3,983 4,480 N497
09 HALEHIZE A= 3,983 4,480 AN 497
OSAEE NESAA 243 3,983 4,480 N497
SN2t Z EH 716,616 724,688 N8,072
EUEA2 AIERXI22 716,616 724,688 A8,072
307 21201 & 169,524 169,596 NT2
05 212t & =3 169,524 159,596 NT2
OEM FAAE 2eE&2| 159,524 159,596 AT2
405 At&tE =H| 55,900 63,900 A 8,000
01 AL ESFH SH 55,900 63,900 8,000
OZ2a AAE WHEI] W 27,000 35,000 28,000
ZsdeH=2d 25,200 28,300 A 3,100
Sy 29 16,400 16,500 A 100
201 LEt2E | 10,900 11,000 A 100
03 A2 2,900 3,000 A 100
OoJes4 2,900 3,000 A 100
JHA=2E 8,800 11,800 23,000
201 LEt2A | 8,800 11,800 A 3,000
02 3524l 8,800 11,800 23,000
OEZ & ZE ==4&H| 2,000 3,000 1,000
Os83 A4 0 1,000 A 1,000
OJIHA A&EH s 1,800 2,800 1,000
HdEdH =4 370,909 393,087 N22,178
= 21,860 21,860 0
Al 349,049 371,227 N22,178
Azs 29 234,375 256,103 N21,728
101 Q124 4] 63,835 83,835 20,000
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HEHAH =4 (Sl & &)
SA - B EL(EH) - NRAY - BES 0] &b 2 p/E-T HDE2

4 JIZtHNZ2HEE+ 63,835 83,835 A 20,000

HREX Y| 34,569 54,569 220,000

-Jles 8,032 28,032 A20,000

201 ¢er24] 36,690 38, 168 A1,478

02 3324l 4,300 5,778 N1,478

OFRFID EMZCIAAE SR 4,300 5,778 A1,478

401 AIEHI L 2 CHYI 4,750 5,000 A 250

01 A€ HI 4,750 5,000 A 250

=Ota HHEN & HdBeHEX 4,750 5,000 A 250

N2 29 68,538 68,988 A 450

201 L Er2A | 24,838 25,288 A 450

02 3324l 20,838 21,288 A 450

ORHLeHY AEZ 2,310 2,760 A 450

SHESH Th2 29 839,915 887,741 NAT,826

= 21,860 21,860 0

Al 818,055 865,881 NAT,826

HdEHdHIH 415,488 428,250 A12,762

= 21,860 21,860 0

Al 393,628 406,390 A12,762

H242Y 319,589 330,096 A 10,507

101 Q124 4] 125,514 135,514 A 10,000

04 JIZHHZ2Z2XNESE S 125,514 135,514 A 10,000

FREX Al 17,737 27,737 A 10,000

-JlzZs 4,016 14,016 A 10,000

201 LEr2A | 45,980 46,487 A 507

02 3222l 8,040 8,547 A 507

ORFID S M22IAIAE SN2+ 6,640 7,147 A 507

dNEA22S 27,905 30, 160 A2,255

201 ¢er24| 27,905 30, 160 A2,255

02 3324l 23,305 25,560 A2,255

Ostea 19,345 21,600 A2,255

Hole EM22Y 132,806 133,950 ANT1,144

SNEEES 21,126 22,270 ANT1,144

301 et d s 1,776 2,920 A1,144

09 HALAHIEA S 1,776 2,920 ANT1,144

OSAEE NESAL HHIENS 1,256 2,400 A1,144

PHEE TN SFXY 291,621 325,541 A 33,920

SHESECM2 AIES I 22 291,621 325,541 N 33,920
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